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A T
GENERAL KNOWLEDGE

1. T Hifd R AT 1 g7 e Ffoifad § @ S-a1 8 7
(A) ITTTreRTRE: AT | Tewdl o SRINT i icaTed
(B) SATRIEATIER sl § TUSH ol TcaTad hedl
(C) A T & “TWIaAi bl S Te ¢l
(D) &=t < =i bl T <1
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work
(B)
(C) To Promote regional languages in India
)

(D
2. 3cHd UIde ford o9 arey feRam R 2

In which year was the UTSAV portal launched ?

To encourage English in official work

To honour Hindi poets

(A) 2024 (B) 2023 (C) 2020 (D) 2022
3. G -1 W G — 11 % |1 GHTIq hITTC g1 it < e fou U e ¥ T I g |
gt -1 gt -1l
() (TTH)
a. 3Wfag arfem . T e 3ATH wIet ford
b. fertor gaTs Il. T SRNEH 3% |
c. By U lll. € S]TEE 2R
d. <. g, qrEurE IV. 3 T Shl ®e
<<
(A) a=1I,b-ll,c—-1l,d-1V B) a-Ill,b—-Il,c—-1,d-1V
(C) a-Ill,b—=IV,c—1I,d-1ll (D) a—1IV,b—-1Lc—1I,d-Ill
Match List — | with List — II and select the correct answer from the code given below the lists.
List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=IL,b-lll,c—-1l,d-1V B) a=Illl,b=Il,c—-1,d-1V
(C) a=ll,b=IV,c—1I,d-1l (D) a—=1IV,b—=1Lc—1I,d-ll
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4. HHA-H AT FE, 2024 H T, 20 AR HUS BT SR GSARUT A H el TRAT T8eht

HIH g9 T ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

ford GREER 309 % IeTed o forg AT wfeg 2 7

(A) ST (B) Heft

(C) &g (D) "
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

A 1 Tgll GH:S1ISY ST5isie Tehe &41- | aifua foam e
(A) 31 fegsrw 2024
(B) 04 femsw 2024
(C) 04 fodsX 2024
(D) 24 3T 2024
India’s first reusable hybrid rocket Rhumi-| was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024
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7. -1 g - 11 % Ty gafera HifTe qen gieet & i e T ge @ wE 3w g |

g -1 A -1l

(7 forgatererera) (¥T)
a. TS Yo fovafaeed | I
b. =TSt UTYEE S o favafaere™ II. hIcTshTdT
c. FUHAM WEER Y fteere™ . e
d. 9. getole ¥ go fovafaeme™ Iv. T
%c :
(A) a—=IV,b—1lll,c—Il,d—]1 (B) a—ll,b—1Il,c—1V,d—1
(C) a—ll,b—1I,c—IV,d—1l (D) a—IV,b—1Il,c—1,d—1l

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List—1I
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur
Open University

Code :
(A a=IV,b=1lll,c—Il,d-1 B) a=IllLb=1Il,c—1IV,d-1
(C) a=ll,b=Il,c—1IV,d=1ll (D) a=1IV,b=Il,c=1I,d-1l

8. T Y M e &1 U IFIU=GE MR did T8l 8 7

(A) TfER (B) WG

(C) T & (D) ®fieh TEmd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9. T =1 U= I1hH H U ¥ I[® ek AR HIfT |
| ST THE HT A
I1. e farfer
I, SN o 33
IV. 3Thgl 1 €U
= feu e e # @ w9 W I
%
(A 1,11V, B) I, 1V, 1,11
(C) 1,1, 1V, 1 (D) 1,11, 1v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 11,1V, B) I, 1V, I, 11
(C) 1,1, v, 1 (D) 1,1, n, v

10. = 3 e & S & T &I A (A) 7T g 1 HR (R) FaT T |

%M(A):m.aﬁ.w.w.@%w%mww%ﬁwWﬁ 2015 ¥ 3[&
o |

HIT (R) : .38 AR TF. 1 3239 I~ HT9SUS o MYUR W WA W H I=o e G <1
fosuer 3T wreEl gedteh JeM T 7 |

(A) (A) 3R (R) THI e & 3T (R) , (A) 1 F&l AT HLdl &

(B) (A) 3T (R) THI & & Wq (R) , (A) Sl Hel ARG Tl haell &

(O) (A) & & Tg (R) Terd &

(D) (A) TeTd ® T (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

A
A
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11, wemes § four 21 wferfead & yq@ 3w = § 7
a. ST & JER 9 TR W@ |
b. FTE uferHi i wiesrareft wE |
c. ArEs HI&T dgHT |
d. TN H T | ghg |

= feu o e § @ T IW g

He

(A) Had a, b, ¢ (B) %ad a, ¢, d
(C) %ad ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :
(A) a, b, conly (B) a, c,donly
(C) c,bonly (D) b, donly
12. | g1 wfquifed wmTeres Sftes evani § frfoifeaa & & wiq wftafoa 78 2 7
(A) oY (B) 3T (C) Torveryor (D) SeERqT

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization

13. f=fafga & @ w9-91 us 1€, 9.8, qonedt 1 ek T8 @ 2
(A) BTEAT (B) TTHRR (C) F= (D) ST THT

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
14, S 61 AHR S 35k 07 % q9 T I STt 2, gl 8
(A) 3R 30 T (B) IR T (C) Mamanwa (D) W

The memory of the computer which is programmed at the time of its manufacturing is called as
(A) ROM (B) RAM (C) PROM (D) EPROM
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15. T & & =t W g (vang) 3uww TE § 7

(A) TE ™ RR (B) Sifert

(C) T3S (D) =2 S
Which one of the following is not an Artificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

16. Trfafed & & %4 71 ygwor 1 HR7 7 ?

(A) 3TSTH (B) TUHTA (C) Tfag-awt (D) T
Which of the following is the cause of soil pollution ?
(A) Ozone (B) Aerosol (C) Acid-rain (D) Smog

17.  “fafras o= wm 2

(A) TSI a1 (B) dfest a=1 &1
(C) UTEH A H (D) IcESH a1 i
“Limbic system” is part of

(A) Reproductive system (B) Nervous system
(C) Digestive system (D) Excretory system

18. Tr=fcfiga # @ =19 wa 9 31 fedqsw 2024 T THE T 2@ ?
a. SREU I=SE WIS
b. THTE e

c. FaTe HATRYM
d. FEWE T T

Hrer fou e e & wE I IR

®e:

(A) e a 3N b (B) e b, ¢ 3N d
(C) a, b, c 3 d (D) haeT a 3 ¢
Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland
d. Sultanpur National Park

Choose the correct answer from the code given below :

Code :
(A) aandb only (B) b,candd only
(C) a,b,candd (D) aandconly
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19. ‘9@ ¢u fra 2 ‘ ‘
(A) 3USHN ¥ (B) Fepem o (C) &g | (D) Tty o
‘Barren’ Island is situated in
(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

20. JATUTCRR Tl T, Il Shi TATHHT e gs off ?

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
21, I AEYH TS T@ TSI 6 99 6 A1 ¥ ™ 2 | gE FISH 1 A I |
G T LSS
1. Y GWR - eI
2. R’ dectvg - fym
3. Ul AT - e
4. G EIR - JAICH
(A) 1T 25 B (B) 17 4 51 &
(C) 2w 3 &l & (D) 27 4 &l &
Ramsar sites and name of states paired below. Choose the correct pair.
Ramsar Site State
1. Sakya Sagar —  Madhya Pradesh
2. Sirpur Wetland —  Tripura
3. Pala Wetland —  Meghalaya
4. Sur Sarovar —  Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
22, fTorm tfierg o shcfled g qret SHT 1 39 AT 8 Ieoig et 8 ?
(A) ST T (B) Vg T
(C) sriea AT (D) et www s
In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
23. cfHor 3tk § 99 fagie & wme el STt 1 a1 ° - uedt < Wi off ¢
(A) FIA (B) A= (C) T "SR (D) TSR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
24, ‘wroAMT ToR| wTeT § ot Wt oft ¢
(A) T (B) Tl (©) Il (D) 35
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu
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25. Mg ATFehT hi STEERON 6 3Icard 83

(A) ITEfern (B) WRa H

(C) Tg TsT Tufept o (D) IATEE fohren o

The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
26. HlGUT AW 1 TUH SETE T3 e FAAING 831 o1 7

(A) 16 3T 1947 (B) 26 SHal 1947

(C) 09 feHsR 1946 (D) 26 Ta«X 1946

When was the first session of Constitutional Assembly held ?

(A) 16™h August 1947 (B) 26t January 1947

(C) 09t December 1946 (D) 26! November 1946

27. 9N % "fauW # frafafea § @ S-91 3w a9k TaiiisR § afud 7 7
(A) 3TTTT 324 (B) 3IT=T 325 (C) 3= 326 (D) 3BT 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
28. wTEel IATEH W WA 1 fogel § hiH—H1 T B ?

(A) om (B) foef (C) e (D) =g

What is the rank of India in the world in rice production ?

(A) 1st (B) ond (C) 3rd (D) 4th
29. W.Ue.37E. (P.L.I.) hm form Tk &= @ gefd T ® 7

(A) WIS Tafwtor (B) JCHISTESA ST

(C) Taferean Iushtor (D) W | ¥ I &

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

30. WNA H T o TvATd {0 GER i AT H T ek L9 o

(A) S Toramt st f w1 Qe (B) 3T=Iet TR o FETa &

(C) Y I =l WeHTled HET (D) &t &g HiY it 1 Fasfierror

The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

9- 72
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31. Na*K+9™ & HdTe & G 91 bfed gt g 7
(A) i TifeTm A 3R ReiEm A % 3 Y9 o
(B) <1 |ifgam 31 3R ofiF diefim 3 % 9 yarg |
(C) @ Eifeam 3= o 31=0:Ja9 3R g Yl ARE & a7l YdTE 9
(D) o Hifeaw 3T & ST JaTE © o R 3 % A< Yo °

What occurs during the Na*K* pump operation ?
(A) Influx of 3Na* ions and 2K~ ions

(B) Outflux of 2Na* ions and 3K~ ions

(C) Influx of 3Na* ions and outflow of 2K* ions

(D) Outflux of 3Na* ions and influx of 2K* ions

32. AfFsTE™ % g # fewen frefafea MidR wdt &
The core of nucleosome contains following histone proteins
(A) H2, H2A, H2B, H3 (B) H1, H2A, H2B, H4
(C) H2A, H2B, H3, H4 (D) H1, H2A, H3, H4

33. X H HH-H1 SeHvSA e HEE B T §IAT AT ?

(A) TR 6 @t (B) Tehish (C) =1 Tt (D) e

Which of the following biosphere reserve was first established in the country ?

(A) Gulf of Mannar (B) Nokrek (C) Nanda Devi (D) Nil Giri
34. 3Tcgl Hifie a0t e Ll 3

(A) et (B) W] (©) T (D) o

Ultra sonic waves are produced by

(A) Gorilla (B) Bear (C) Emu (D) Pteropus

35. S0 9 HI-H) Hehreneh TREIh fsham 981 2 ?

(A) IrERTforT (B) HEsHIT

(C) HEITehTHT (D) Fewifran

Which one is not a positive interaction ?

(A) Amensalism (B) Protocooperation
(C) Mutualism (D) Commensalism

-10- 72
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36.

37.

38.

39.

IRd | 7R 9 ¥ T I IS0 8
(A) foet & (B) wTerET

The critically endangered species in India is

(A) Pigmy hog (B) Red panda

GET IT ON
Google Play

(C) Hret fed (D) Tgam

(C) Black buck (D) Leopard

FrfaRaa & & HH-91 y=foa (SUHifeeh) adeo g 2

(A) FHEhHA-AT™ a0
(C) T-fege ahieqor
Which one is a parametric test ?

(A) Kruskal-Wallis test
(C) Mann-Whitney test

o —fertur fopEeh grT Icafady idl 8 ?
(A) feftem = g
(C) THaHH % gHI

X-rays causes mutation through
(A) Deletion

(C) Transversion

(B) Tt o1 fergetwor (uiEm)
(D) A T ge-graey

(B) Analysis of variance (ANOVA)

(D) Spearman rank correlation

(B) ZISTIeM o gr
(D) SE-HFEIERH % grI

(B) Transition

(D) Base substitution

AR e AreHiies i g wfia gt & | e § @ - At & R

fowfia & 2

(A) Afaes 9@ 51 fopet off o § forg S w5

(B) W& Weg SHIEh (SATfer) o1 SfcHfaes shidt 2 31 g #hflm (Srrfa) =1 gfaffrea st &
(C) ™ geferes 0 for@ Sd @ dun 3= - @ifeha foharm Srar 2

(D) &Y T fog ST W T@iferd fopam ST =iz

Nomenclature is governed by certain universal rules. Which one of the following is contrary to the rules

of nomenclature ?
(A
(B

(D

When written by hand, must be underlined

Biological names can be written in any language
The first word represents generic and second represents species epithet

)
)

(C) The names are written in italics and are underlined
)

72
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40. FfRea @ PA- WM HFAT TA B ?
(A) Tt STl TR % T § SEEel Wi % i S el 8
(B) Tt 38 deft Sl # fesi feufa g 2
(C) feaeT THETAT 9Tl el § sATSedeh 18! T aidl &
(D) Tt IS HIRH! B wifeh Tt weehl HSe TE &

Which one of the following statement is true ?
(A
(B
(C
(D

41. S a1l awelt & frmfafaa § @ wF-a1 dan siaffEsE sod % e T R
(A) TITEA dTed o 1Y 3T (B) TR TTIferd
(C) INUTHeT ZHI e FehU TTT e (D) &M W% GHel
Which of the following characters of lung fish does not resemble with cartilaginous fishes ?

(A) Intestine with a spiral valve (B) Nephrostomes absent
(C) Gills covered by operculum (D) Similar conus arteriosus

42, €. . € H ST 3R AT EwN] i T SOt Bidl @ 3R WA 3 e f g
TUS Bl & | &9 GE41 k] ST ST 8

) All organ system level animals have tube within tube body plan
) All blind sac animals written bigerminal condition

) Animals having radial symmetry contain blind sac body plan

)

All chordates are vertebrates but all vertebrates are not chordates

(A) g BT < (B) =TI 1 frem
(C) TS @1 fm (D) =efersr =1 faga

DNA has an equal number of adenine and thymine residues and equal number of guanine and
cytosine. These relationships are known as

(A) Von't Hoff plot (B) Chargaff’s rule

(C) Coulomb’s law (D) Chatelier’s principle
43. fofre ger &9 @ f5a 1 Ty & R0 I foed g 8 2

(A) BTSSRI T (B) ST g

(C) HIEhe TR (D) TeehTEet TR

Lipids are primarily hydrophobic because of which functional group ?

(A) Hydroxyl group (B) Carbonyl group

(C) Phosphate group (D) Alkyl group

-12- 72
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44. IR HA8 T HEEEGE TUG &7 i 3R i a1 S 2

45.

46.

(A) TATSShTch [oTeE
(C) TATSHITEH

(B) TSR
(D) Tfe3ATeATgh

The carbohydrate rich zone on the cell surface is also called as

(A) Glycocalyx
(C) Glycoprotein

e et 1 T 31T O Safeya Hif |

| uferatrEa
II. 33T

I, T
Iv. anferea

= feu e e # ¥ FwE IR gAT ;

e .

(A) LIV, 1
(B) LIV, 1,1
(C) n, 1, v, 1
(D) L nLn, v

Arrange the following epochs in a sequence.

I. Palaeocene
Il. Eocene

lll. Pleistocene
IV. Oligocene

(B) Glycans
(D) Proteoglycan

Choose the correct answers from the code given below :

Code :

(A) LIL v,
B) LIV, 1
(C) 1,1, 1v, 1
(D) I, N, 1v

SR BRI TR T 3
(A) feat

(C) 39 TEeT |

Obturator foramen is found in
(A) Heart

(C) Pectoral girdle

-13-

(B) =nfor Trger o
(D) HIATHIAT T

(B) Pelvic girdle
(D) Vertebrae
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47. g -1 S G - 11 % Y FAfAd R |
it -1 e -
a. A SeH i, T o
b. & i, Tgeta =R
c. HUItEE iii. TTET SRl ST
d. YEH gME iv. EHmefeA
a—-i, b-iv, c—iii, d-ii
a—iii, b-iv, c—ii, d-i
a—ii, b-i, c—iv, d-ii
a—iii, b-iv, c—i, d—ii
Match List — | with List —II.
List -1 List - 1I
Mons pubis i. Urine formation
Glomerulus ii. Second messenger
Ferroptosis iii. Female external genitalia
Protein hormone iv. Haemoglobin
) a—i, b-—iv, c—ii, d-ii
B) a—iii, b-iv, c—ii, d-i
)
)

Qe o oo

a—ii, b-i, c—iv, d-ii
a—iii, b-iv, c—i, d —ii

48. T =1 U A ° =afed Hif |
. g afee

II. TR
. g gfsfera
IV. B S|
e feu U e § § T W g
<< .
(A 11,1V, B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) 1, 1, 1, 1v
Arrange the following steps in a sequence.
I. Homo sapiens
II. Australopithecus
[ll. Homo habilis

IV. Homo erectus

Choose the correct answers from the code given below :
Code :

(A 1111V, 1 B) 1, 1V, 1l i (C) I, 1L, 1V, | ) 1, 1L, 11, IV
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49. TSR FER H foar 9 § Y@ =1 F:1 7 ?

(A) ST T (B) TR TEHH
(OREIEIRE-IE] (D) UREANE o
What is the primary driver of altruistic behaviour in kin selection ?
(A) Genetic relatedness (B) Social hierarchy
(C) Environmental pressures (D) Reciprocal benefits
50. F — 1 % T — 11 3 Y FATd B |
T -1 T -1l
a. WIFhS ITGH . e
b. IS STAUYH Il YaTeTsfeE
c. CAMP &I 1. HTEFAIE-T
d. K*3Ta IV. BIEhITeTeH
= feu o foepedt # @ wE W AT
(A) a=1ll, b-=1V, c—I, d—1l
B) a=1lll, b-=I, c-1v, d-I
(C) a=1Il, b-1V, c—I, d—1ll
(D) a=1I, b=, c=ll, d-IV
Match the List — | with List — II.
List -1 List -1l
a. Phosphate inhibitor I. Ouabain
b. Kinase inhibitor II. Rapamycin
c. CAMP level lll. Cyclosporin — A
d. K* channel IV. Phosphorylation
Choose the correct answers from the code given below :
(A) a=1lll, b-=1V, c—I, d—1li
B) a=1ll, b-=I, c-1Iv, d-I
(C) a=1Il, b-1V, c—I, d—1ll
(D) a=I, b=, c=ll, d-1IV
51. HIE H XXY URE I aTer U Afad faefad gmm
(A) THTH (B) T Tl H
() faferft o (D) T Iecd Hrel H
An individual with XXY chromosomal complement in humans will develop as
(A) amale (B) afemale
(C) a hermaphrodite (D) a super female
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52.

53.

=1 1 T IR § Saferd HINT
| Sffee|

Il TSR

. fsa=ht (g=)

IV. Papt WIE

= feu T e 7 ¥ wE W AT

He:

(A) I-b,ll-a,lll-c,IV-d

(B) I—a,ll-b,lll—-d,IV-c

(C) I-c,ll—a,lll-d,IV-b

(D) I1—-d,ll—-b,lll—¢,IV-a

Arrange the following steps in a sequence :
[. Jaundice
Il. Kala-azar
Ill. Dysentry
IV. Whooping cough

. TR ST

e s

Leishmania donovani
Leptosira
Shigella

Bordtelle pertussis

Choose the correct answers from the code given below :

Code :

(A) I-b,ll—a,lll—c,IV-d
B) I-a,ll—b,ll—d,IV—-c
C) I=c,l—a,lll-=d,IV-b
(D) I—d,ll—=b,l-c¢, IV—a

¢ % TR hl TATSHINEA N Gl T Eperd W °Ts At &
(B) TATSHIBITTH

(A) EHIfE
() faamifea

(D) TTESHIH

GET IT ON
Google Play

Dome shaped glycoprotein found on the membrane of rough endoplasmic reticulum are

(A) Ribophorins
(C) Lipophorins

(B) Glycophorins

(D) Transferrins
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54.

55.

TR eIfaeh! § g5eaq Irwey figia o1 %1 312 8 7

GET IT ON
Google Play

(A) ST H STl T Y B I U7 S 3T TRIEY I AR HTH HT Th fo=m

(B) Tt ATATEROT | WISH &g TR 6T STTTTIHAT
(C) WIS Y SAferehe™ T S WTE ST Fehell &
(D) ¥ISH <hl TN § T oh1 HEs STTER

In behavioural ecology, the term optimal foraging theory refers to

(A) Idea that animals optimize their foraging strategy to minimize energy expenditure

(B) Need for forage for food in all environment
(C) Maximum amount of food that can be consumed

(D) Instinctual behaviour in animals for search of food

e 1 T IrsEn o Safera Hif

V. TAREH
= feu T e # ¥ HE IW g
%2
(A) 11,1V, 1 B) I, 1V, 1,1
(C) I, v, (D) I, 1,1, v
Arrange the following in a sequence :
I. Cambrian
Il. Permian
[ll. Carboniferous
IV. Pliocene

Choose the correct answers from the code given below :
Code :

(A) LILiv, (B) LIv, I
(C) 1,1, v, 1 (D) 1, M, 1, 1v

-17-
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56. A H A HA-TW R T 2 7
(A) RIS 3R IS TR-ITT=Ih IIh &
(B) IS, HIGIS TR Fehlsl T -3TT=IH b &
(C) FehIST 3T THHN T-3TI=Toreh I &
(D) THHIS 3T ST &

Which of the following statement is correct ?

(A) Glucose and sucrose are non-reducing sugars
(B) Glucose, maltose and sucrose are non-reducing sugars
(C) Sucrose and raffinose are non-reducing sugars

(D) Raffinose is a reducing sugar

57. = @ %o few U R | U w1 AfieRUE (A) GER W T (R) HET TR
AfrReA (A) : RIS Ihiatifies sfial & s fommm § Taeayel yftres 31er td 2 |
T (R) : I8 fgcias Hergess o1 il faeprmcnss fifem § &t 2 |
IR Ferl % IS B Frefiad fsmed § ¥ gafie IR I 9 -
(A) (A) 3T (R) SHT T 2 3 (R), (A) F =& = 2
(B) (A) 3R (R) I Tl 2 3R (R), (A) 1 Tt = 42 2
(C) (A)®&l & W (R) et &
(D) (A)TTEId & TG (R) &l &

Given below are two statements. One is labeled as assertion (A) and other is labeled as reason (R).
Assertion (A) : Sterols play essential roles in physiology of eukaryotic organisms.
Reason (R) : It serves as a secondary messenger in developmental signalling.

In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A)is not correct but (R) is correct
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58. TeIT3hicg BHNEITSH (HbA1C) Wl Tl 1 o aR # o1 =afed o & fofe wge ot 8

(A) TeTeUdT (B) ereftfirn

(C) feet =1 gt (D) HYHE

Glycated hemoglobin (HbA1C) level provides information for management of
(A) Anaemia (B) Thalassemia

(C) Heart attack (D) Diabetes mellitus

59. SHEEI § HYR @ Iig el Bl B 7
(A) J& gfg ¢ fRr gt 2
(B) SHEEAT Ugel il  Sedl 8 TR I8 &Hal W ugaeRt TR Bl 3l @
(C) e g &9 | Fedl §
(D) SFex feer et 2

A population exhibits logistic growth when

(A) When its growth rate is constant

(B) Population growth exponentially at first, the stabilize reaching carrying capacity
(C) Population grows linearly

(D) Birth rates remain constant

60. = fGU T QI oAl § ¥ T o JAMHA (A) 3TN g8 I Tk (R) el T ¢ |
HfHRAT (A) : TTRfTH T e Hedi qoh Fotar & 37 T8 JSfi Sl 54 <l & |
Tk (R) : HehIvldT THTE TSTfa o wiiersy =1 vy fuifa st 2 |
S For & e § PR fsedt 3 i ST I
(A) (A) 3T (R) ST HEl 2 3R (R), (A) T HEl e
(B) (A) 3R (R) S Wl 2 3 (R), (A) 1 well =amea e &
(C) (A) W&l & W (R) TTeTd 8
(D) (A)TTeTd & W (R) @&l 8
Given below are two statements; one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Natural selection operates over many generations to give rise to new species.

Reason (R) : Bottleneck effect determines the future fate of the species.

In the light of the above choose the correct answer from the options given below :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct
)

(D) (A) is not correct but (R) is correct
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61. TISASHICH &1 H Teh WGBS Fch T GuTdl &

(A) STl 1 U O s is T et T8l gl @

(B) SSTferait b1 weh Ty el Ueh amT=r qeiw 3R 3qeh @l vt wfiret € @
(C) STl 1 Ueh wHg e Teh gl § We W FHIed il 8

(D) SISIfeRl <l Uk HYg oo Siiad o g8 T s T T I8 St 2

What does a monophylectic group in a phylogenetic tree represent ?

)
)
)
)

(A) A group of species with no common ancestors
(B) A group of species that includes a common ancestor and all of its descendents
(C) A group of species that are the farthest related to one another

(D) A group of species that can be found in multiple places on the tree of life

62. I % SOl WHHAR .U, wrersiin diehialied § T8 it 2
(A) ¥4 1 3T
(B) fder@ 3R TG AU-T1Y BT &
(C) TawrsH *re 1 319
(D) ITR gt
mRNA splicing does not occur in prokaryotes because of
(A) Lack of introns
(B) Transcription and translation occur simultaneously
(C) Lack of splicing agents
(D) All of the above

63. fotont ST T I w-H feeH siudt & ¢
Which histone binds to linker DNA ?
(A) H1 (B) H2A (C) H2B (D) H3

64. faerrard) geui W snuria seffertor <1 fafr sgard 2

(A) BT (B) HE&ATHeh dTTehul

(C) FAfsieead (D) SATehffas maTia afiehtr
The method of classification based on evolutionary relationship is called

(A) Phonetics (B) Numerical taxonomy

(C) Cladistics (D) Morphological taxonomy
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65.

66.

JEhIT TSI hI g s @@ # 7

(A) 3=9 1o IHT T gF § IR

(B) TR & Ieh{l TF 3o TF Iehdl

(C) T & IhU T I=d gF IR

(D) 39 T&d YU TF I fIdH g

What is the main characteristic of renal glucosuria ?
(A) High blood glucose and glucose in urine

(B) Normal blood glucose and glucose in urine

(C) Low blood glucose and glucose in urine

(D) High blood glucose and no glucose in urine

& T I HL |
a. fe=AiTE JMedl & ATSSIhiTgaT T 31T BT &
b. IEHMIE MRl H HISEIhITSAT BIT &
c. FeETicTs o ATk ATSCIehitgAT BIdT &
o, Fffer # WS B

v e T e @ T S SR -

(A) % a, c

(B) hdd a, d

(C) %ad a, ¢, d

(D) e a, b, d

Find correct one.
a. Diplomonad animals lack mitochondria
b. Retortamonad animals have mitochondria

c. Parabasalids have actual mitochondria

d. Euglena has mitochondria

Choose the correct answer from the options given below :

(A) a, conly
(B) a,donly
(C) a,c,donly
(D) a, b, donly

-21-
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67. oftm smEfen Wida 1 wE i ®

(A) HIeHTSHH (B) gt
(C) LAP-2 IidH (D) fafue

This is key regulator of Lamin binding protein

(A) Calmodulin (B) Kinase
(C) LAP-2 protein (D) Lipid

68. HI-HT T T fieheur fam i frg sear 2 7

Which ratio proves independent assortment law ?

(A) 1:1:1:1
B) 1:2:1
(C) 9:3:3:1
(D) 3:1
69. TUsfea UeusM w1 Igrewur U a8
(A) ST fibmr & (B) SRSt #
(C) uferi o (D) 3uier Tef
The example of adaptive radiation is seen in
(A) Darwin Finches (B) Mammals
(C) Birds (D) All of the above
70. SR o foehd o G 3T3TET sl a1 i dTell T &
(A) STEhITE (B) ISt (C) THiee (D) et
During drosophila development anterior axis is decided by the proteins
(A) Bicoid (B) Nanos (C) Engrailed (D) Krirps
71, FrE @ B3 S SRR ¥ w9 § i IR 7
(A) TTIEH (B) HieTeh
(C) RNy wa & 1A (D) THifered
Which of the following animals are classified as deuterostomes ?
(A) Arthropods (B) Molluscs
(C) Starfish and sea urchins (D) Annelids
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72. foudta wirsa fereeht # 91 3@ w7y gro S B §

(A) BTSSIHITeh SATHY0T (B) BTSSIthicTeh STTeRNTT
(C) TEEIANTH T4 (D) 3R &=
In Plasma membrane proteins are held in the bilayer mainly by these bonds
(A) Hydrophobic attraction (B) Hydrophilic attraction
(C) Covalents bonds (D) lonic bonds

73. TURET H Teretfons et § hicaan sTgfen WA sia-ar g 7
(A) HIEHIG A (B) heueafe
(C) gt (D) ersfed
The calcium binding protein in the endoplasmic reticulum of skeleton muscle is
(A) Calmodulin (B) Calsequestrin
(C) Troponin (D) Titin

74. a9 gfsean <1 wrfires frmor gfess o R wm d gar g 0

(A) 9= (B) Hgell STl

(C) T (D) TTETISTH

The primary control of respiration is located in which part of the brain ?

(A) Pons (B) Medulla oblongata

(C) Cerebellum (D) Hypothalamus
75. 3] S U Gehd NH< & ST & 98 2

(A) STEE (B) JuTTH

(C) JTIH (D) 3™

The molecule that binds to a signal receptor is

(A) Ligand (B) Effector

(C) Receptor (D) Epitome

76. TATSHT fooetl o 3AT=ANeh TTTeH bl ¢@d & oIt ITATT hl S aTeft dehdieh haetrdl &

(A) HEAHIEH Iedfra gerefiieh (B) SISI-SheFer A Hewefaiehl

(C) Tawenferieh Herehieht (D) I55ad & GEHGITh

The technique used to visualize the internal organization of plasma membrane is called as
(A) Multiphoton excitation microscopy (B) Freeze-fracture electron microscopy
(C) Phase-contrast microscopy (D) Bright field microscopy
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77.  Trafafea e = gafera Hifv |

W A W B
a. 3uTfareh 3TTeRefie . Wi U
b. S UITEN Il EEgIaH Il
c. UTgEde SRR IIl. TTEHHE — C
d. w &. . fgers IV. THTEA-HIT~ITEH-A
(A) a—1l, b-1lll, c—IV, d-I
B) a-lll, b-1V, c—1l, d-I
C) a=Il, b-I, c—Il, d-=1IV
(D) a-IV, b-1lll, c—1I, d-1lI

Match the following column.

Column A Column B
a. Molecular oxygen I. Proton Pump
b. Electron acceptor Il. Hydrogen acceptor
c. Pyruvate dehydrogenase lll. Cytochrome —C
d. ATP synthetase IV. Acetyl-Co-A
(A) a=1Il, b-=1Ill, c—-Iv, d-I
B) a=Ill, b-1Iv, c—Il, d-I
(C) a-ll, b-I, c-l, d-IV
(D) a=1V, b-lll, c-1, d-1ll

78. AN TSfeH 37 ufded 6t Sfrenfuges & wHsad 7

(A) Mre B 31 Fts Z (B) FtsZ 3T Mre B
(C) MotA 3T Mot B (D) Pom A 37X Pom B
The respective homology of tubulin and actin in bacteria is
(A) Mre B and Fis Z (B) Fts Zand Mre B
(C) Mot A and Mot B (D) Pom A and Pom B
79. TIfceh T H U T ATCl Gewsiial g TR § YgWeh <l HgA1/HIAT i HH HA I AishaAT
FHEAT &
(A) 3T=ATeh SeTT=RoT (B) TIEAT SeTo=oT
(C) STaI ST (D) STEI-TH SFTa=RoT
The process of reducing concentration of the contaminant in an environment by naturally occurring
microbes
(A) Intrinsic bioremediation (B) In-situ-bioremediation
(C) Extrinsic bioremediation (D) Ex-situ-bioremediation
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80. e T fored < Arar-fudt, THM a1 gHET YA HHICET Teiid oid & Tsh THTE TR s HHIesy
o |1 H| e Hd & | I8 el S 8
(A) sfefEm (B) ThehRl
(C) < Tsnersh yTE (D) S SAfelhan

A phenomenon in which two parents that express the same or similar recessive phenotypes produce
offspring with a wild type phenotype is

(A) Epistasis (B) Complementation
(C) Gene modifier effect (D) Gene redundancy

81. Ueh UHE=<A WAe | ST I T3S o8 W JeiRid hidl &
(A) T=TEE w1 foh I&T | 0-180° el 2
(B) y 3T ¢ 0T ST foh Uiefiueerse I 4@el % STEage HIv I guidl 2
(C) & THM YR % YSSUTI To-TeHh & Biel 8
(D) Sulerd Tt

In a Ramchandran plot the w-angle at the peptide bond indicates
(A) Planarity of the peptide which is typically around 0-180°

(B)
(C) It shows similar types of backbone conformational region
(D) All of the above

v and ¢ angle which indicate the dihedral angle of the polypeptide chain

82. ot frE mymedt’” Y v i wftnfya e

(A) T TR (B) Fpi-fessia (C) HTA-ART (D) Tt 99 Tohe=
The scientist who decoded the language of “honey bees” was
(A) Emil Fischer (B) Niko-Tinbergen (C) Karl-Lorenz (D) Karl-Von-Frisch

83. I[sHY] 1 T o srefigfea TeH gId 8 | YSHA § Ueg ST @
(A) ISHTU] ST TINUT M i & forg
(B) 3T TR 1 TR ¢ & fetw
(C) I o R IR I fyepfera & & ferg
(D) ¥3hIY] ST Tiferefietar < fote et weM % & foe

The middle piece of sperm which contains oxidative enzymes helps in reproduction by
(A) To provide nutrition to the sperm

(B)

(C) To develop the whole body of the sperm
(D)

To harbor the haploid nucleus

To provide energy for sperm motility
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84. -1 fen anl sl # s T % S dereder T s g ?
(A) e BT
(B) == famfem
(C) whaet A.5f.uh-sfter femfem
(D) 3.5 .uw.<fter tg wh. .U, fEmfem

Which signaling pathway is involved in mesodermal induction during early development in vertebrates ?

(A) Sonic Hedgehog
(B) Notch signalling
(C) TGF-B signalling only
(D) TGF-B and FGF signalling
85. T TATH =l 3 T R Sfal & fieH i |
a. U= 90 i, oo sfaferefRm
b. TEATTSAT i, feumram st
c. 3Thihl fagr =ty i, TSI 2ifteRt
d. BT A iv. FeiREE o
(A) a—iii, b—i, c—iv, d—ii
(B) a—iii, b—iv, c—i, d-ii
(C) a—iii, b—i, c—ii, d-—iv
(D) a—i, b=—iii c—ii, d-iv
Match the following diseases with their causal organisms.
a. Orientalis sore i. Leishmania brasilensis
b. Espundia ii. Trypanosoma brucei
c. African sleeping sickness iii. Leishmania tropica
d. Chagas disease iv. Trypanosoma Cruzi
(A) a—iii, b—i, c—iv, d—ii
(B) a—iii, b—iv, c—i, d-ii
(C) a—iii, b—i, c—ii, d-iv
(D) a—i, b—iii c—ii, d-iv

(A) TETEIOIE (B) TAHSI (C) e (D) Tt/
Crustaceans respire by
(A) Trachea (B) Gills (C) Lungs (D) Skin
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87. Trfefaa faerfim <t =it 1 3ow T wamwes guen @ gafad s |

88.

89.

o o

(A) a=1Il, b-1, c-1l,
B) a=I, b-lIl, c-IIl,
(C) a-1ll, b-I, c-1V,
(D) a-MHl, b-1, c-1,

Match the following vitamin deficiencies with their associated health problems.

6o T p

d.
Choose the correct answer :
(A) a-=1Il, b-=I, c-=1I,
)y a=1I, b=, c—1l,
(C) a=1ll, b-I, c-1IV,
ya-=1Ill, b=, c-—1I

B

(D

(A)

(©)

(A)

(©)

(A)
(©)

ferertem < it
. faafim-a
. fefim-B

Vitamin deficiency
Vitamin — A
Vitamin — B
Vitamin — D
Vitamin — C

arrEfed
HeSITsI U

Psoriasis
Alzheimer’s disease

.U ug .
SRUATSA A

T T
| S8 o
II. Taeft
. Ehelf

Iv. fehed

d-1v
d-1v

d-1v

Health Problem
I. Beriberi
II. Night blindness
lll. Scurvey
IV. Rickets

d-1Vv
d-1v

d-1Vv

frefefad § O STURTaRT -1 @utaRedt T T8 ® 7
(B) TEHIISS TieAT
(D) ufgE=g U

Which of the following is not usually an auto immune disease ?
(B) Rheumatoid arthritis
(D) Addisson’s disease

Frfafiga § @ HH—a1 FIRE Gohdd 1 fodia gex ames 781 § 7
(B) eI+ (Ca2+)
(D) T4.U.E1.u4.

Which is not a second cell signalling messenger ?

(A)
(©)

CAMP
Diacylglycerol

(B) Calcium?2+ (Ca2+)
(D) NADH
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90. el Hehel o G Set <t Fmfor Serewer 3
(A) TTE HRIBRT T (B) 3Tfrem
(C) SHSITd (HES) =IER (D) eI AR
The building of a web by spider is an example of

(A) Fixed action pattern (B) Releases

(C) Innate behavior (D) Learned behaviour

91. dfIehT OF % Hehd o JUTE H T4 & dTct T¢I U SATd &

(A) ITTaE | (B) uaft o

(C) Tu | (D) Wl

The heart that contracts in response to signals from the nervous system are present in
(A) Arthropods (B) Birds

(C) Mammals (D) Reptiles

92. WISAAISHT fehEehl Heg & ST ST Tehell & 7
(A) E1. T T (B) HE=R W, TH. T.
(C) TSHEMe 3TR. T, T, (D) IEHL IR, T, T,
Phylogeny can be known with the help of
(A) DNA (B) Messenger RNA
(C) Ribosomal RNA (D) Transfer RNA
93. U W iR 3 U W waa gurfed ToH fr=failea # & fop 319spm g 3= fdfiers o o
U B 7

In rho dependent and rho independent termination sites there is similarity in secondary structure generated

by which of the following ?

(A) 1.5 — CGTATG - 3' (B) 1.5 — CGAATG - 3'
2.3 — CGAATG - 5’ 2.3 - GCATAC - 5'
(C) 1.5 — GGTACC - 3' (D) 1.5 — GACTAC - 3'
2.3' - CCATGG - 5' 2.3 —CTTAAG - 5'
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94. gHN3Ieeh RIS H 5 Hd I T TH. AR, T T. ¥ ford TATSH GRT STeT ST & 7

(A) Trermret gretist (B) el (T) drefiEi
(C) TBTIerTeet ZhEthist (ESIEE

In eukaryotic cells 5' cap is added to nascent mRNA by which enzyme ?

(A) Methyltransferase (B) Poly(A) Polymerase
(C) Guanylyl transferase (D) Helicase

95. Tt Tmfte srawen § reieEt favreM o S i TorgEt i gl oETg % T Serar 7

(A) femrdm (B) STEIEH (C) ¥=EH (D) WA
Synaptonemal complex extends along entire length of paired chromosomes during meiosis at the
stage of

(A) Diplotene (B) Zygotene (C) Pachytene (D) Leptotene

96. e # 4 fopm wiitfeufaes @ # g 3rfereh anfifer Teher wfives Scareehar gt 2 7
(A) 3frarsor qofardt =
(8) ftarsor wemeff 9=
(C) o0 hicaa auied
(D) o1 Hiearef uofurdt g
Which of the following ecosystems has the highest annual net primary productivity ?
(A) Temperate deciduous forest
(B) Temperate evergreen forest
(C) Tropical rain forest

(D) Tropical deciduous forest

97. HH-HT YTEHS YMh THT % Ta8 TIEh & ?
(A) TS (B) Titeem (©) fires (D) T
Which primate is the closest relative of modern man ?

(A) Orangutan (B) Gorilla (C) Gibbon (D) Langur
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98.

99.

100.

HTSZIhIf~gaT 1 AT foreeht T ®HH-8 TIeH TR gd 8 7
(A) TSHISeRE Hrgst

(B) HHITHTE TS

(C) BRI

(D) ¥oEH [l USTsH T HEUseH

Which enzyme is present in inner mitochondrial membrane ?

(A) Adenylete Kinase

(B)

(C) Hexokinase
(D)

Monoamine oxidase

Respiratory chain enzyme and co-enzyme

‘G E ‘S’ T H YEAM I B I&IaT & 7

(A) TTsfae €- @.E® - 4 TR

(B) TTEfde T- W.E® - 2 TR

(C) dsfaeq <’ - H.&.% - 1998

(D) dEfaed §'- @.E% - 258

What triggers the transition from ‘G1’ to ‘S’ phase ?
(A) Cyclin ‘D’ — CDK — 4 complex

(B) Cyclin ‘A> — CDK — 2 complex

)
(C) Cyclin ‘B’ — CDK — 1 complex
(D) Cyclin ‘E’ — CDK — 2 complex

IEH /20T /feAfig & Tepehiet 6t TR TTgHt JS1d i el STl @

(A) TETTEhIETECI (B) TSR

(C) TATSHITSEE (D) U

The non-enzymatic attachment of glucose to proteins/DNA/lipids is called
(A) Glycosylation (B) Glycation

(C) Gilycolysis (D) Ligation
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